

THE INTER-FEDERATION COMPETITION 2023

The competition was organised by the Lancashire & Cheshire Photographic Union.

The competition was for prints in three categories:

- Monochrome Prints
- Colour Prints
- Nature Prints

The competition was judged on Saturday 3rd June by:

- Jenny Hibbert MPAGB EFIAP/g AWPF
- Roger Parry ARPS MPAGB EFIAP HonPAGB
- Nick Hilton DPAGB EFIAP/b BPE5

Catalogue:

• (to follow)



Inter-Federation Mono Print Competition 2023

Sum of top 15 scores.

Position	Federation	Total Mark	No.Counted	Average Mark
1st	LCPU - The Lancashire and Cheshire Photographic Union	205.00	15	13.667
2nd	SPF - Scottish Photographic Federation	204.00	15	13.600
3rd	MCPF - The Midland Counties Photographic Federation	202.00	15	13.467
4th	NEMPF - The North and East Midlands Photographic Federation	201.00	15	13.400
5th	EAF - The East Anglian Federation of Photographic Societies	197.00	15	13.133
6th	NIPA - Northern Ireland Photographic Association	196.00	15	13.067
=	YPU - Yorkshire Photographic Union	196.00	15	13.067
8th	WCPF - Western Counties Photographic Federation	195.00	15	13.000
9th	WPF - Welsh Photographic Federation	190.00	15	12.667
10th	NCPF - The Northern Counties Photographic Federation	183.00	15	12.200
11th	NWPA - North Wales Photographic Association	182.00	15	12.133
12th	CACC - The Chilterns Association of Camera Clubs	178.00	15	11.867
=	SCPF - Southern Counties Photographic Federation	178.00	15	11.867
14th	SPA - Surrey Photographic Association	175.00	15	11.667



Inter-Federation Mono Print Competition 2023

Individual Awards.

1. Best Award	Marys Prayer	Rosemary Hughes LIPF	NIPA - Northern Ireland Photographic Association
2. Judge 1 Choice JH	Misty Church	Chris Lafbury	EAF - The East Anglian Federation of Photographic Societies
2. Judge 2 Choice RP	Making the Leap	Aamir Sabzwari CPAGB	LCPU - The Lancashire and Cheshire Photographic Union
2. Judge 3 Choice NH	Consoling Touch	Eion Johnston DPAGB FRPS BPE3*	SPF - Scottish Photographic Federation
3. PAGB Ribbon	Julio Napolis and Friend	Roy Essery MPAGB	EAF - The East Anglian Federation of Photographic Societies
3. PAGB Ribbon	Lorraine Ugen Muller Athletics	Colin Bradshaw DPAGB BPE5* PPSA EFIAP	EAF - The East Anglian Federation of Photographic Societies
3. PAGB Ribbon	Focused	Brian Stephenson FBPE DPAGB	NEMPF - The North and East Midlands Photographic Federation
3. PAGB Ribbon	Only Pride was Hurt	David Reid	SPF - Scottish Photographic Federation
3. PAGB Ribbon	The White Room	Ralph Duckett MPAGB EFIAP APAGB	MCPF - The Midland Counties Photographic Federation
3. PAGB Ribbon	Wheelwright	Mike Sharples MFIAP MPAGB FBPE ARPS EFIAP	MCPF - The Midland Counties Photographic Federation
Certificate	Mystical tree	Heather Bodle	WCPF - Western Counties Photographic Federation
Certificate	Scarlots Leap	Alistair Cox	SPF - Scottish Photographic Federation
Certificate	Great Grey Owls in Snow	Lynda Haney DPAGB ABPE EFIAP	LCPU - The Lancashire and Cheshire Photographic Union



Inter-Federation Colour Print Competition 2023 Sum of top 15 scores.

Position	Federation	Total Mark	No.Counted	Average Mark
1st	LCPU - The Lancashire and Cheshire Photographic Union	214.00	15	14.267
2nd	MCPF - The Midland Counties Photographic Federation	211.00	15	14.067
3rd	NEMPF - The North and East Midlands Photographic Federation	204.00	15	13.600
4th	EAF - The East Anglian Federation of Photographic Societies	200.00	15	13.333
5th	SPF - Scottish Photographic Federation	198.00	15	13.200
6th	NCPF - The Northern Counties Photographic Federation	197.00	15	13.133
7th	YPU - Yorkshire Photographic Union	196.00	15	13.067
8th	WPF - Welsh Photographic Federation	195.00	15	13.000
9th	SCPF - Southern Counties Photographic Federation	193.00	15	12.867
10th	NIPA - Northern Ireland Photographic Association	192.00	15	12.800
11th	NWPA - North Wales Photographic Association	189.00	15	12.600
=	WCPF - Western Counties Photographic Federation	189.00	15	12.600
13th	SPA - Surrey Photographic Association	176.00	15	11.733
14th	CACC - The Chilterns Association of Camera Clubs	175.00	15	11.667



Certificate

Photographic Alliance of Great Britain

Inter-Federation Colour Print Competition 2023

New Forest Pony in Misty Dawn

Individual Awards.

1. Best Award	Ayla	Ross McKelvey MFIAP MPAGB EFIAP/p FBPE	NIPA - Northern Ireland Photographic Association
2. Judge 1 Choice	Waiting in the Wings	Katrina Mee BPE2	NEMPF - The North and East Midlands Photographic Federation
2. Judge 2 Choice	Left Behind	Wendy Stowell DPAGB	LCPU - The Lancashire and Cheshire Photographic Union
2. Judge 3 Choice	Winter Scene	Andrew Buckley	MCPF - The Midland Counties Photographic Federation
3. PAGB Ribbon	Swamped	lain Houston	EAF - The East Anglian Federation of Photographic Societies
3. PAGB Ribbon	Chance Encounter	Antony Ward	YPU - Yorkshire Photographic Union
3. PAGB Ribbon	Round Up	Maybeth Jamieson DPAGB	SPF - Scottish Photographic Federation
3. PAGB Ribbon	Kestrel Guarding Prey	Wendy Stowell DPAGB	LCPU - The Lancashire and Cheshire Photographic Union
3. PAGB Ribbon	Stranded	Kenneth Gordon	SPF - Scottish Photographic Federation
3. PAGB Ribbon	Goan Fisherman	Bob Moore MPAGB HonPAGB HonFRPS	MCPF - The Midland Counties Photographic Federation
Certificate	The Bicycle Trailer Boy	Chrissie Westgate FRPS	EAF - The East Anglian Federation of Photographic Societies
Certificate	A Dancer in Flight	Paul Hassell MPAGB FRPS FIPF FBPE	MCPF - The Midland Counties Photographic Federation

Ferg Cowhig

SCPF - Southern Counties Photographic Federation



Inter-Federation Nature Print Competition 2023 Sum of top 15 scores.

Position	Federation	Total Mark	No.Counted	Average Mark
1st	LCPU - The Lancashire and Cheshire Photographic Union	213.00	15	14.200
2nd	EAF - The East Anglian Federation of Photographic Societies	209.00	15	13.933
=	MCPF - The Midland Counties Photographic Federation	209.00	15	13.933
=	WCPF - Western Counties Photographic Federation	209.00	15	13.933
5th	NEMPF - The North and East Midlands Photographic Federation	206.00	15	13.733
6th	SCPF - Southern Counties Photographic Federation	204.00	15	13.600
7th	SPA - Surrey Photographic Association	198.00	15	13.200
8th	YPU - Yorkshire Photographic Union	195.00	15	13.000
9th	SPF - Scottish Photographic Federation	194.00	15	12.933
10th	NIPA - Northern Ireland Photographic Association	193.00	15	12.867
11th	NCPF - The Northern Counties Photographic Federation	192.00	15	12.800
12th	CACC - The Chilterns Association of Camera Clubs	188.00	15	12.533
13th	WPF - Welsh Photographic Federation	186.00	15	12.400
14th	NWPA - North Wales Photographic Association	181.00	15	12.067



Inter-Federation Nature Print Competition 2023

Individual Awards.

Best Award	Bittern in the mist	Tim Downton ARPS DPAGB	WCPF - Western Counties Photographic Federation
2. Judge 1 Choice JH	Male Large Emerald Moth on Corncockle H	Hæandon Matthews ARPS DPAGB EFIAP BPE3*	MCPF - The Midland Counties Photographic Federation
2. Judge 2 Choice RP	Cuckoo And Sedge Warbler Skirmish	Colin Bradshaw DPAGB BPE5* PPSA EFIAP	EAF - The East Anglian Federation of Photographic Societies
2. Judge 3 Choice NH	White Tailed Eagles	Pamela Wilson CPAGB	NIPA - Northern Ireland Photographic Association
3. PAGB Ribbon	Rose Sawfly caterpillars	Robert Harvey BA ARPS EFIAP CEnv CSci MCIWEM	WCPF - Western Counties Photographic Federation
3. PAGB Ribbon	Bison Foraging In Snow	Julie Walker ARPS DPAGB EFIAP EPSA	NCPF - The Northern Counties Photographic Federation
3. PAGB Ribbon	Snowy Owl	Kirsten Asmusson ARPS	SPA - Surrey Photographic Association
3. PAGB Ribbon	Arctic Fox in Blizzard	Richard Bennett	SPF - Scottish Photographic Federation
3. PAGB Ribbon	Banded Demoiselles	Tony North BPE3	LCPU - The Lancashire and Cheshire Photographic Union
3. PAGB Ribbon	Artic Fox Resting	Michael Windle MPAGB ARPS	MCPF - The Midland Counties Photographic Federation
4. Certificate	Timid Fallow Deer	David Morement	EAF - The East Anglian Federation of Photographic Societies
4. Certificate	Wild European Black Bellied Hamster	Victoria Andrews DPAGB BPE4* LRPS AFIAP	EAF - The East Anglian Federation of Photographic Societies
4. Certificate	In The Lead	Bev Clough	YPU - Yorkshire Photographic Union